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Question Number : 1 Question Id : 4928632401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

C

b . i
Let Xz{(a d):a.b.c.de [R}. Define f: X - Rby f(A)=det (A) VA4e X.

Then. f 1s

a b . -

Xz{[c d]:a.b.c.de [R} o808, X > R, f(A)=det (A) VAe X m
&cDotod. edyd f

Options :

one-one but not onto
OESW, T JdoRo 57

.
onto but not one-one
ol . AR 4 o Y "
i QOINAWD, T ©I(EI0 57
one-one and onto
@380 Sodoin dors b
3 % =
neither one-one nor onto
e SIEI0 5%, Jordsn T

Question Number : 2 Question Id : 4928632402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

| e — .
Let x#0 , [x|< 5 and f(x) =1+2x+ 4x° +8x° +....Then f(x)=

. 1 - .
x#0 , |3‘|<; 508050 () =1+2x+4x" +8x° +... 050808 SPOTeS (@)=

i

Options :
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Question Number : 3 Question Id : 4928632403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

For all positive integers £, if the greatest divisor of 255+ 12k — 1 is d then 4+/d =

©Q) &S Fgdomgen ko 255+ 12k — 1 Bwg), KOG wreidn dwond, edydd 44/d =

Options :

Y.

Mo
&
o0

Question Number : 4 Question Id : 4928632404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If A=

1
4
-

o0 W 9

o h D

J

O A

s

then (44")' =

NN

wond, (44")' =

[ ]
gcollegedumas
India’s largest Student Review Platform

—



'S ]
[\ )

N
-

4. -

122

Question Number : 5 Question Id : 4928632405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If A, =
|
|

Options :

%
L

1 b°

2

i1 &

, ¢ ab+bc+ca

o B ﬂbf'

a
b

C

3

3

3

and A, =

be

ca

b+c 1

c+a 1

ab a+b 1

bc
ca

ab a+b

b+c

cC+da

then

2

1

1

1| wons,
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3 x 2(ab+ bc + ca)

4 ® (a+b+f_)2

Question Number : 6 Question Id : 4928632406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If x =a. y=>b. = c is the solution of the system of simultaneous linear equations
xty+z=4. x—-y+z=2.x+2y+2z=1thenab+ bc+ ca=

DT OE AEJrS SWEGe SgIY x +y+z=4 x—y+z=2.x+2y +2z=1 Bg), FES

x=a,y=b,z=cwond, eN&k ab+bc+ca=
Options :
1 ® 0
> o —25
3 ® l
a4

Question Number : 7 Question Id : 4928632407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The common roots of the equations =3 + 222+ 2z + 1 =0 and =218 + 22017 + | =0 satisfy the
equation

24222+ 22+ 1 =0 5008000 22018+ 22017 + ] = 0 Baosberre &b Sreknes SyH063

DEE20

Options :
L =g =0
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Question Number : 8 Question Id : 4928632408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The area (in sq. units) of the triangle whose vertices are the points represented by the
complex numbers 0. z. ze** (0 < < ) 1S

0.2z 7 (0 < o < TT) @3 5088 Homcen JHrdod DoIen 2oreom EOAS 182H250
2 S G

U ~
Options

1, 2

Sl

1 ® <

Vol

—|z|" sinex
> & 2

|
—-|:| SiN & COS &
2

| W
;[:| cosa

Question Number : 9 Question Id : 4928632409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If -'+% =1. then (:EOH](:#} H](:GOH) _

- =
RPN . i ot
—

2 v 2

3 % 1
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Question Number : 10 Question Id : 4928632410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cnrrpct :1 Wrong: 0
If @y.@,.....0, ; are the n® roots of unity. then

(L+2 ) (12 o)l +im). A1 +20...)=

Wy, O;...., O, O IEE0 B, N S Sorodwed ©ons, SRS
l1+2w)(1+20)(1+2w)..(1+20, ,)=
Options :

1+(-1)" 2"

1. %

ucy TrHg»

su C1p+2

- 1_|_(_ l)n—l om

Question Number : 11 Question Id : 4928632411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If k € Rthen roots of (x — 2) (x —3) = k* are always

ke Roond, (x—2) (x —3) = k> Goo¥), Sarodnes Jobvd

Options :
real and distinct

TRT0 NOGIN DD
1. '

real and equal

TPRTED B0 AR

complex numbers

5088 Q0P OO
]
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rational numbers

. E830%H Eﬁumgm

Question Number : 12 Question Id : 4928632412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

- > . 2
If x> —3ax+14=0 and x> + 2ax—16 =0 have a common root then a* +a” =

- -
¥ =3ax+14=0 508050 x“+2ax—16=0 e 2.8 &350)8 Soorodns 07 o8, by

o/
- 2
a +a =
Options :

l_ﬂz

50l 0

Question Number : 13 Question Id : 4928632413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

If .0......a, are the roots of x" + px+¢ =0. then (e, -4 ) (@, -, )...(a, -, ) =
04.Q,......00, & X" +px+q=0, BwE Srodndd, edvdo

((1’” - )(an -, )“"(an B ) =
Options :

n-1
| ® H(l’n +q

By i 2
L s O TG+t

n—l1

PR
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n-1
o JIQ’H -I-p

Question Number : 14 Question Id : 4928632414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

All the roots of the equation x> +15x* +94x° +305x” + 507x + 353 = 0 are increased by
some real number & in order to eliminate the 4® degree term from the equation. Now. the
coefficient of x in the transformed equation 1s

2 +15x* +94x3 +305x% +507x+353 =0 $Do88m0 $o0d TR SEKE ST woR
DONTIE & HaoEdmo SwE), @) Drodoesd wi TS Jopg k& 8O3, RISV
ErFoddo BB DEG0ST x Boo¥), Keeso

Options :

1_3:2

Question Number : 15 Question Id : 4928632415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

The number of ways in which four letters can be put in four addressed envelops so that
no letter goes into envelope meant for it 1s

D & 8650 TF SArHBEnaS §5HS'VE 3G Ao, T & EFSVOD Tek
oo T8 ESHeS I8 wodidA dFhsne Dopg

Options :
1. 8

> % 12

o I

a9
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Question Number : 16 Question Id : 4928632416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If the integer represented by 100! has K consective zeros at the end. then K=

100! 8 SrDodHad TEdopg DIES SBJm K&JS’J&)\JUEFJ‘ K=
Options :

>
1_*@'4

s x 04

g 138

Question Number : 17 Question Id : 4928632417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

)15 1s equal to

If » 1s a positive integer and the coefficient of % in the expansion of (1+ x
the coefficient of x° in the expansion of (1—x) ™" . then n =

et G5 Prossn 00050 (1+x)° Gng), ILEDS® X

w

G0E), VYRS x° B0k, HeESHE JSrSB, wdydo n =

Options :

1 ® 15

4 x 10

Question Number : 18 Question Id : 4928632418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumas
India’s largest Student Review Platform

Correct: 1 Wrong : 0



3-6:9-12

Question Number : 19 Question Id : 4928632419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
. : ) ; 2l %
If F, and F, are irreducible factors of x*+x*+1 with real coefficients and

¥
£ =2x"+3x—4 Ax+B Cx+D

2
b ¥l K F,

then A+B+C+D=

F, 00050 F,en X +xt 4] B RS egSe §98 odgreg sdmrosioen Sodasw

] 3
v =2x% +3x—-4 AT+B+CY+D

2
e | F F,

o8, o A+ B+ C+D=

Options :

1_% —2

x A

"
- i R

4 & —4

Question Number : 20 Question Id : 4928632420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0 .
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Jn

— o T .
The number of all the possible integral values of # > 2 such that Bl R
2n 2n 2
o ;z' . ;r J?; ﬁ) " o a) - ‘) o o . o’ ol
51112—”~+COS e 5 ©AGLLNT FGgRSDG N > 2 BRE),. ) JT08 IO oy
Options :
1 ® D
> % 4
3¢ 3
iy

4 % OB0S50

Question Number : 21 Question Id : 4928632421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If o and P are angles in the first quadrant such that tan o =% and s f =ﬁ. then

D80 sinf=——, oDogotn o, P v IELBFE0S A F'eo-88, edydd

4 % 90°

Question Number : 22 Question Id : 4928632422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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ol oo 5

Options :

-1
1. ¢ 8

4_5%].

Question Number : 23 Question Id : 4928632423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

r _ .
If 0 <& <. then solution of the equation

Siné@ —3sm 2@ +sm3@ =cosé@—3cos280+cos3f is

04:6’4%— 0303, sin@—3sin26 +sin360 =cos@—3¢0s260 + 05360 SH€E00 S3008),

—

Aty

Options :

o
. 15
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Question Number : 24 Question Id : 4928632424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

. 12 a4 63
Sin Y 22 |4+Cos| 2 |+ Tan | 22 | =
13 5 16

Options :

| % 27T

o T

no

3%0

x — T

Question Number : 25 Question Id : 4928632425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
If simhx=

and cosh y=— thenx+y=

2 | N

.L\IL)J

. 3 5
smh:r:z 00k coshy=— eond, odyd x+y=
: J

)

&
[—
Q

§ (=
(2

Question Number : 26 Question Id : 4928632426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

In a triangle ABC. if @ = 5. b = 6. ¢ = 7. then the length of the median drawn from B is

2§ AABCS* a=5,b=6,c=T7 eond, Biod ADS So¢gido 8%
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Question Number : 27 Question Id : 4928632427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

- : A B &
In AABC.1if cot;—:cot;:cot?=4:3 2 thena: b=

. A B e
AABC ¢° cot;:cot?:cot7=4:3:2. ONS, @dyd a . bh:ee=

d— d— i

Options :

8 2 YA
ol 01527
2% 4:5:6
ik

Question Number : 28 Question Id : 4928632428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

. . | | T
InAABC.1fcosAcosB+smAsmBsmC=1and C = thenA:B=

. . . T
AABCeS® cosAcosB+smAsmBsinC=1 358050 C=7 SoNS, @éjc’w A:B=
Options :
1 w 1 :4
5> ® 1 &3
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Question Number : 29 Question Id : 4928632429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a. b. ¢ are distinct real numbers and P. Q. R are three points whose position vectors are

respectively a7 +bj +ck. b7 +¢f +ak and c7 +aj +bk. then ZOPR =

a.b.ceo EJéDcf;l TRS Dopgeo 0TI .af_+ b7+d\7. bi’T+C]_'+fﬂxT oleToves) ‘(’i_+a]_'+bl?e_1:>
565m P, Q. Red Surd dochPe & H6¥en ©o0d, edyds LOPR=

Options :

. Cos™(a+b+0)

I\J|§|-

4l a“+b*+¢
abc

Cos

Question Number : 30 Question Id : 4928632430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cnrrec‘t: 1 Wrong : 0
Let @ =sin"x7 +cos”xj +k.(xe R). If the pairs of vectors 7.7 :a.; and @.k are

adjacent sides of 3 distinct parallelograms and A is the sum of the squares of areas of these
parallelograms. then A lies in the mterval

I_ % - 2 5 oy - e r F_ TE W)
a=sin“xi +cos"xj+k.(xe R) 0808 3 D) HSrodY St a.i 1a. ]
508050 a.k 93 d6Fo =den BJQ) 0I0ey DOBR B JISrodd WSHEHR VY
: .
35

SESne Jndso A woos, BRIV A &03 wogdo

Options :
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1 = (0- l)

, [3.4]

3 & [O' 2]

-

Question Number : 31 Question Id : 4928632431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Assertion (A) : a.b.e.d are position vectors of 4 points such that 2a-3b+7¢-6d =0

= 7.b.z.d are coplanar.
Reason (R):  Vector equation of the plane passing through three points whose position

Vectors are H,B,(_‘ 1S

7= (1-x—v)a+xb +ye.

S
il
2
Ky
Ql
Q“I

pss0 (A): a. +76-6d =0 eddogbinm &) 4 DodoHe
FIdBI0 = ‘{7‘5‘(—»‘(7@ SSOTBT 0.
s6mo (R):  4.5.C o & $8F0om £OAS 31t Dotho MomFdh Svo DB

SDE8w0 T =(l1-x-v)a +xb + ycC.

Which of the following 1s true?

& 8o TS* B DEgH0?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
& (A) 0805w (R)Bodsr S8g80 8ciw (A)8 (R) 98308 Jdden

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
o (A) 30850 (R)Todsr S8gd50, 570 (A) 8§ (R) D050 D580 57
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(A) 1s true. but (R) 1s false

7 4

. (8) d8gs0, 522 (R) ed8gsn

(A) 1s false. but (R) 1s true
o (A) 23850, 50 (R) &g

Question Number : 32 Question Id : 4928632432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If|a[

4.|b|=5.|a —b| =3 and@ s the angle between the vectors @ and b then tan” 6 =

la|=4. B]=5.[a-B]=3 w000 @, b s6de Sobgsmo 6 sond, el tan” @ =

Question Number : 33 Question Id : 4928632433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2 isaunit vector perpendicular to the plane determined by the points 27+ j+k,i—j+k

and —7 + 7 —k .If @ =27 —37 +6k then the projection vector of @ on z is

I 2i +j+k.i —j+k Hobosn L—IT+JT*—AT DoYHoB ITooS2B S8 € 28 oo
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Question Number : 34 Question Id : 4928632434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

fa=27+7-3k. b=7-2]+3k. c=—7 + ] —4k and d =7 + J + 2k then

r(ﬁxf?)x@xa)z

a=2i+j-3k, b=7
w9ty (@xb)x(exd) =

Options :

i PSR

87 —367 + 60k
" 4

2.

, « —81 =367 +12k

Question Number : 35 Question Id : 4928632435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The mean and standard deviation of a distribution of weights of a group of 20 boys are
40kgs and Skgs respectively. If two boys of weights 43kg and 37kg are excluded from this
group. then the variance of the distribution of weights of the remaining group of boys is

20 5008 wrend Sdwmodho AwE) ahIho Jraeso B NFgH0, EN dToTew
83 40 8. 8o S ST & JdwuTroo vod 43 ST ododw 37 ST wddie
QD wrend DITFan DAOS wrend JdToho B Yo draso B,
DNE

Options :

% 268
> R 527

oo D58

g B:19

Question Number : 36 Question Id : 4928632436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider the following data.

Groupl  GroupIll  GroupIll

Number of observations 50 60 90
Mean 113 120 115
Standard deviation 6 8 7

With respect to the consistencies of the above groups. the increasing order of them 1s

& 1Bod darodhindn 8losiod.
Rnmrodo 1 Saomroo I Sdoomroio 1T

S0Fode JSopg 50 60 90
S0 g0 113 120 115
Eododo 6 8 7

——

2 DI0ToNINL JoBE Syry T8 e Edod0

Options :
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Question Number : 37 Question Id : 4928632437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

In a battery manufacturing factory. machines P. Q and R manufacture 20%. 30%. and 50%
respectively of the total output. The chances that a defective battery is produced by these
machines are 1%. 1.5% and 2% respectively. If a battery 1s selected as random from

production then the probability that it 1s defective 1s

2.8 erglod S0 >gE0eS® P, Q Hododn R odogren Iwdgo &&8S° S8dm 20%. 30%
0850 50% SoirdHBdron. & ooty §ao §IAS ergbilen Edird BLES
Sogrdgdes $&0m 1%. 1.5% $o8a5n 2% Sair0 Sood w8 erghdld dirdyison &,

el &R0 EOASH f—.ﬁcﬁog Eéoaﬁ*égé

Options :

69
| = 2000

21
I

, % 2000

Question Number : 38 Question Id : 4928632438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : 0
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Suppose 4 and B are events of a random experiment such that P(A) =

P(AUB)=%

T

Then match the items of List-I with the items of List-II

o8 BN Sriiod’ 4. Bed wisdes P(A)=1.P(4NB) :% %8050 P(4UB) =

1

) | =

1

PlAnB)= ; and

| )

@633@3&:»_9;? ﬁafld‘i:éo&wa“u. @éjcéo Ha-] S0 woFod, THe-Il 'V woTrod

2SBoNod.
List-1
orar-1
(4
(a) P(E)
b) P(B)
(€) P(4nB)
d P(BNA)

The correct answer 1s

08 LoD B2

Options :
(a) (b)
1. % (V) (1)
(a) (b)
> = (V) (1)

(111)

(c)
(11)

List-I1
rdar-11
, 2
(1) 5
@) ¢
i
(111) T
i B
(1v) 3
( 3
V) -
(d)
(11)
(d)
(111)
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(a) (b) (c) (d)
s % (V) i) (1) (V)

(a) (b) (c) (d)
L (1) (1) (11)

Question Number : 39 Question Id : 4928632439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In a test. a student either guesses or copies or knows the answer to a multiple choice question
with four choices having one correct answer. The probability that he guesses the answer 1s

1 1
< and the probability that he copies it 1s B The probability that his answer is correct

tad

|
given that he copied it 1s i The probability that he knew the answer. given that he has

correctly answered it. 1s

08 H0ES°, Trenid oiysen 8§00, 28 JIrFTIS0S) 8 WITVFO)E @RH™ w8 Tl

&irotido T BT TafLdo To Sor ©8A8 BO0HE0 T SSrFEN AR, W&k

1 : 1
és&mra"@_ A PORTO RN T O Eﬁoe.r“;’)ge:é 3" STelevh s s*?a@‘ééca"aé &’)oapégé F @&

.. 1
shEESSy S3rTSo SOTIE TITE DowSgs —. 8K KOS BIrTIo THILYT
QN SHP, S8 BIPTH0 BOD GoSTIS HogrHgS

Options :
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Question Number : 40 Question Id : 4928632440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The probability that a mechanic making an error while using a machine on the n™ day is

givenby P(E,) = % . It he has operated the machine for 4 days. the probability that he had

not made a mistake on 3 out of 4 days is

’ ’ > 1
2.8 F05°08 &8 dDoE@) NS §er SIBTAOVSIPED ééﬂjﬁd’n@oﬁg Dogragd P(E,)=—m

QR H2EI80. 85 & coE ) 4 Fwrenr GID,AR, 4 SFpred® 3 S SdyRoE T
GOodT VS Dogrags

Options :

, » 1024

Question Number : 41 Question Id : 4928632441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If the probability of a bad reaction from a vaccination 1s 0.01. then the probability that
exactly two out of 300 people will get bad reaction 1s

28 85 DEGoIIB Jogrdgd 0.01 wond 300 JodS® sYFor 1Fgds M@ O
QELoRFTVE oI e

Options :
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Question Number : 42 Question Id : 4928632442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
If A=(1.2).B=(2.1) and Pisavariable point satisfying the condition
the locus of P is

PA—PB|=3.then

A=(12).B=(2.]) %0050 P ed 5800509 |PA-PB|=3 o3 dc5Hsrd) 808,
P &%), Dokoddo

Options :
2
8x° +2xy+ 8_1-*2 +27x+27y+45=0

1_3

L x A%+ +4y? —27x-27y+90=0

i 32x% +8x1+ 3277 —108x—108y+99 =0
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8x” —2xy+8y” —27x—-27y+45=0
4 ®

Question Number : 43 Question Id : 4928632443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
For a#b+#c. ifthe lines x+2ay+a=0. x+3by+b=0andx+4cy+c=0are
concurrent. then a. b. c are in

azb#c & x+2av+a=0. x+3by+b=0 58050 x+4cy+c=0 S ped
wddsToond, a, b, c oo

Options :

Arithmetic progression

woERERS’ Golrow

Geometric progression

HoeRdS* Gorron

Harmonic progression
FTE)E BEST Golrow
3

Arthemetico geometric progression

©08-EdS’ Golron

Question Number : 44 Question Id : 4928632444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A pomt moves n the XY-plane such that the sum of its distances from two mutually
perpendicular lines is always equal to 3. The area enclosed by the locus of that point 1s
(In sq. units)

XY-$00&S® a8 Doy, "0 SHod Bod DENBI0 vowomr &08 o No Srore
0o Jedydr 3 edoglity WOl wod. ®ond, & Dok B¥), Dokddo BS80S
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Question Number : 45 Question Id : 4928632445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The equations of two altitudes of an equilateral triangle are /3 x — y+8 —43 =0 and

f x+y-12—- 4+/3 = 0. The equation of the third altitude is

2.8 HHoerdo Bahao BE), Bodd GHEe HDEres 3x—y+8—443 =0 S0

Bx+y-12-4/3=0 w008 Soris &58 HDEswo

Optiﬂn_s:

| % \@x+y=4
, ¢ ¥=10

% ¥=10
48X 3y =4
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R BB ... P, are n pomnts on the line y = x all lymng in the first quadrant. such that

(OB,)=n(OF, ;) (Oisorigin). OF =1 and F, =(2520v/2.2520v/2 ) . thenn =

BEEFE0S® dotar, y=x56¢8p > Ko B. P B, ... B, &3 ndoJen,
(OR,)=n(OR,;) (0 Sare Do), OF =1 %8050 B, =(252042.252042 )

oogtn wol, n=

Options :

1.3“5

Question Number : 47 Question Id : 4928632447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The straight line x+ y+1=0 bisects an angle between the pair of lines of which one is
2x+3y—4=0. Then the equation of the other line is

X+y+1=0 &3 60, 2x+3y-4=0 D o8 Spr $OAS SEFdgrainKo Sodglie
?W&) 930 QWO B0, Bond Todd By DoEdwo

Options :
{ # 3Xx—=2y+9=0

g IX—2y-9=0

2
B o
3¢‘x+ y+9=0
x-y-1=0

4 *
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The combined equation of the pair of straight lines passing through the point of intersection

- 1 1
of the pair of lines x* +4xy + 3y~ —4x—10y +3 =0 and having slopes = and 3 1S

'x2+4n’+3}'2_41._10.]‘4_3:0 o3 JGFBPrBwr)o B, Podd DoIHNOT I
1 4
2.8 55@’33}*&‘5}31’?&0 B0, Treow 5 B3 —; SO0, €8 3&?@.@5&@ HaoEd0

Options :

2
Lx X =3 —8x—2y+15=0

,x X +Tx+12y" —x—4y=0

2
. X +Txy+10y" —x—8y-2=0

X +xy—6y" —Tx-16y+6=0
4

Question Number : 49 Question Id : 4928632449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If a circle G - x? +y2 —16 intersects another circle ‘Cg with radius 5 such that the

3
common chord is of maximum length and has a slope equal to 7 then the centre of the

circle G, 1s

¥+ 32 =16 o3 5380 C, 5 TFGor Ko HEE 550 C, K, TS G508 =5 PEY

Teorr 08 GoBbin, PodPod. wand 5Fsn C, BwE, oo

s w

ﬁ&?’.ﬁ.}oﬁ“ & oo,

12
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Options :

b
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Question Number : 50 Question Id : 4928632450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The equation of the circle which touches the circle x* + y* —6x+6y+17 =0 externally

and having the lines x* —3xy —3x+9y =0 as two normals, is

e " ” " " 9
X“+y —6x+6y+17=0 e wrdrgomr D)Ed:, x°-3xy-3x+9y=0 Spo

ePooudpeor SOAS [yddn Boog) DaoEdo

Options :
..

2
X +y +2x+3y+1=0

el . B
¢ X +y —6x-2y+1=0

w

o ,
xX“+v +4x-3y+3=0
4 % ' :
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Let A be the centre of the circle x> + 3> — 2x — 4y — 20 = 0. If the tangents drawn at the
points B (1. 7) and D (4. -2) on the given circle meet at the point C, then the area of the
quadrilateral ABCD 1s

x2+32—2x—4y—-20=03 Sgo B¥, Bogo Asdodomro. 8 $)Bo Ko Dokohen
B (1.7) 58050 D (4.-2) © 5¢ 608 ydpe podd Docodh Ceond ABCD Ssodyzo
S0E), STOLo

b

Options :

% 60

Question Number : 52 Question Id : 4928632452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Let x - 4 = 0 be the radical axis of two circles which are intersecting orthogonally. If
¥+ yz = 36 is one of those circles, then the other circle is

Uowa‘_)dﬁﬁu DRI Bodh fHao Sororgo x - 4 =0 oDHosro. TES* wf HEo
¥+ ¥ = 36 wand, Bod S Hydo

-

Options :
i x*+y2-16x+36=0
v 4 i N e
, ¢ X Ty —18x+36=0
v2+32 - 18x+24=0
s uX T ' i
¥, 2 -
e x*+y“—6x+ 8y+36=0
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The length of common chord of the circles
x>+3y2—6x—4y+13-c2=0,
2+ —4Ax—-6y+13-c2=0is

X+y2—6x—4y+13-c2=0,
x2+y2—4x—-6y+13-c2=0
PTO s =g PEY

Options :

Question Number : 54 Question Id : 4928632454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

IfPis (3. 1) and Q is a point on the curve y* = 8x, then the locus of the mid point of the line
segment PQ 1s

Peda (3.1)500050 Qeuds 12 =8rSEo &8 Do) ©wand, PQIgr podd) Hoeghodod)
&'.ooéb Hodnido
Options :

1 % 412 —12x — 6_1* +21=0
> of 4:[2 —16x — 4'1'.* +25=0
3 % 4:1'.2_'_8.'(' _3_1'— 18=0

452 —12x +8y—15=0

4.2

gcollegeduniaa

el



Question Number : 55 Question Id : 4928632455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Let P(2.4). Q(18.-12) be the points on the parabola 2 = 8x. The equation of straight line

having slope = and passing through the point of intersection of the tangents to the parabola

drawn at the points P and Q 1s

¥y = 8x dordewchon P (2.4), Q (18, -12) en Dodohen. P Hodcsn Q DodHPhe 38 &

1
QT DO (S E&Qq;ﬁaaw POUEN DoY) MOT IS, ;c‘ﬁo Teomrie S8¢0p HLES00

Options
Ty — 1=
8 2x—y=1
Ty — ="
L% X—y=2
x—-2y=1
3 % '
x—2p=2
4. ¢ '
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F 2
Let 4 be a vertex of the ellipse § E"; - '; —1=0 and F be a focus of the ellipse

2 .
S'= % - 1? —1=0.Let P be a point on the major axis of the ellipse S'= 0. which divides

OF in the ratio 2 : 1 (O is the ori gin). If the length of the chord of the ellipse § = 0 through

34101

. then k=
A,.

Aand P1s

2 ) :
X g 2 1'2

=+ —1=0 o8 6g5go Gk, o8 §Gin 4 S0ab S'E"; +2 _1=0 o3

63 Hygo By, w8 TP Fedsomo. §'=0 &3 Hdo By, HTE80D Ho w8 Dok
P, OF & 2: 1 4)8s* defedgodSsomo (0 Swredoty). S=0 6SBT08

3101

k

. @ond8 k=

A 5008050 Po HomdFdd =g >8I

Options :

1rﬁ5

2,3’4

3,v’7

4.“8

Question Number : 57 Question Id : 4928632457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2 2

Tangents are drawn to the ellipse ; - ; “u 1 at all the four ends of its latusrecta. Then the

area (in square units) of the quadrilateral formed by these tangents is

el g
+'I6 =] &3 5%53@:3 Boo¥), TPeowre wodgdodPer Trenhod 5§ dGope

fiohamon. & HEopes J63 Sdodpzo Bwg), IToghn (SE6Y rILS’)
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Question Number : 58 Question Id : 4928632458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
The lines of the form xcos ¢+ ysing = p are chords of the hyperbola 4x2 —12 =442 which
subtend a right angle at the centre of the hyperbola. If these chords touch a circle with
centre at (0. 0). then the radius of that circle 1s

XCOSP+ ysing=p &rdoS® &l J6¢dpen, 4x2 — 1?2 = 442 03 98ITH0SrI8, TR

Soio $¢ wowse B wrgen. (0, 0) 5 o) §OnS H)amA) & @gen JPIR, & g
TG D0
Options :

2a

=

1. ¢
E
> % 3
3_ﬁﬁﬂ
8
qlﬁ\/z_
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Let A(3.2,—-4)and B (9. 8. -10) be two points. Let P, divide AB in the ratio 1 : 2 and
P, divide AB in the ratio 2:1. If the point P (o, B, y) divides P, P, m the ratio 1 : 1.
then a+28+2y =

A(3.2.—4) S8c50 B (9. 8. -10) e Bod DodoYhootomo. AB P, o3 Dok
1:23585°8, P,ed Doty 2: 13985 dgfeodisomo. P (a, B, y) @36
P,P,% 1:13485° dgf2h, a+2f+2y=

Options :

l.“l

> o 2

Question Number : 60 Question Id : 4928632460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If the direction cosines of the two lines satisty the equations /+m +n=0.2im +2ln—mn =0,
then the acute angle between these lines 1s

Body DE¥Ope &8 SRR [+m+n=0,2lm+2ln—m=0e3 Swseroln &udoR,
ONYE 8 JFope DIy I Do

Options :

Cos™ (%J
J
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Question Number : 61 Question Id : 4928632461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
If the equation of the plane passing through the point (2. —1. 3) and perpendicular to the
planes 3x—2y+z=9 and x+ v+:=91is x+by+cz+d =0 thend=

(2. -1, 3) Doty omdFdr, 3x—2y+2=9 H0ak» x+y+:=9 dorod vowor
&od Swo B, $ESwo x+by+cz+d =0 wond d=

Options :

11

=
1 ¢ 2

x 0

12

(s | =

Question Number : 62 Question Id : 4928632462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

va+2x —\/E

lim =

v—a  Jx—+a

Options :

5

M
-
&

W
n®
&=

2

4
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Question Number : 63 Question Id : 4928632463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

(ax+b. ¥<-1
If a function f'(x) defined by f(x)=: 2x% + 2bx —%. -l<x<l
v e |

\

1s contmuous on R then (a, b) =

‘ax+Db. ¥ < -1

F(x)=42x% + 2bx —g. ~1<x<1

7 2 x21

N

™ AENSS (HRoohdw f(x) @36 R f;—.:aa:;é 08, (a, b) =
Options :

o (-22,-3
o & (02.~3)

- (11,—6)

4 B (_ 22— 6)

Question Number : 64 Question Id : 4928632464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

2

The derivative of ¥ = (sinx)* with respect to x is

| 2
x Syxs ¥=0nx)" &), ssEousn

Options :
n

;. (500 x)* log (sinx)
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Coy g .
o x2(sinx)*

2 2

. x 2x(sinx)" cosx+2x(sinx)* log(sinx)

2

2 . _
S x> (sinx)* cosx+2x(sinx)* log(sinx)

Question Number : 65 Question Id : 4928632465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cﬂrrgct :1 Wrong : 0
(.1'+1)2\h‘-1 t].lenLﬂ:—
(x+4) " dx

If y=

y= _ ®ANB, — =
(x+4) &' dx
Options
(.‘1‘-!-1)3 x—1| 2 4 1 3
. (Y+4)3€1 v+1 2(x-1) x+4
(x+1)"vx-1]| 2 1 3
- + -
- (x+4)° e |x+1 2(x-1) x+4

(.T+1)2\/x—1 . g 1 3

= (.1‘+4)3€I x+1 2(x-1) x+4
3

(x+1)\/ﬁ[ 2 | 3 _1]

4 % (4+.'1‘)2.€'I ¥+l x-1 4+x
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The slope of the tangent to the curve f(x)=tanh™!(sinx) at'x = 7 is

x=n 38 f (x) = tanh~!(sin x) SER8 ADS G0y Tew

Options :

1.5*1
2380

3. ¢ —1

Question Number : 67 Question Id : 4928632467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3

The approximate value of y =(1.01)* +2 (1 .Ol)E +51s

3
y=01.01)>+2 (1.01)2 +5 S0o&), Geronody Jeod

Options :

| v 8.06

> % 8.04

o 8102

4 & 816

Question Number : 68 Question Id : 4928632468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If y = 2x 1s a tangent to the curve y2=ax3+ b at (1. 2). then (a. b) =

(1.2) 38 y2=ax3+ b S5E°08 HidS 390 ¥y =2xrwond, (a. D) =

Options :
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Question Number : 69 Question Id : 4928632469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

. 2 2 2 :
An angle between the curves x“—y“ =4 and x“ + vy~ = 42 is

' 2 2 | 7 i 3
x“—y =4 203w x“+y° =42 IO WP &8 o

Options :

9| N

N
\
(N

b)lh’

O\l;‘!.
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Correct: 1 Wrong : 0
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Let f (x) be continuous on [0. 4]. differentiable on (0. 4). f(0) =4 and f(4) =— 2. If

f(x)

x)=
g(x) x+2

. then the value of g’ (¢) for some Lagrange's constant c € (0.4) is

f(x) «3&6 [0.4] I Y6)S0, 0, 4) 2 ©58oc050, f(0) =4 Soodsn f(4) =-2

@88 0T0. g(r)zﬁ w08 IZT o8 Brod YoroEHw ce(0.4) % 2' (o) G308,

42
D8I

Options :

b | =

Question Number : 71 Question Id : 4928632471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

.[(«}tanx + cotx)dx -

Options :

\E Sin~} (sinx +cosx) +c
1 b 4

ol V2 Cos7!(sinx+cosx)+c

- V2 Cos 7} (sinx—cosx)+c

- J2Sin~! (sinx—cosx)+c
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Question Number : 72 Question Id : 4928632472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

(i.
.[ : 3

9
( 2ax+x° )3

Options :

-1 (x+a)

2 7
. o a \/2ax+:r“

+€

—{X+da
( )j +C
\/2(11'+.1"
o) -
1 X+a
o)
3 % 2a \/f_’,m'—l—x“
-1 (x+a)
+C

y
ol \/2ax+r"

Question Number : 73 Question Id : 4928632473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
2dx

If —
\/COT'_ =188 X

e :—m+c o3, f(x):

I'\/ cot® x—tan’ x

Dptiun_'s -
; % Cotx

« SIN2x

N

0e”)
@ €OS2x

W

q4 % .tﬁll X

=—, /f(_r) +c.then f(x)=

-
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Correct: 1 Wrong: (0

Question Number : 75 Question Id : 4928632475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
X

It f(x)= f—

1

dt . then

o % |
[ ]
gcollegedumaa
India’s largest Student Review Platform

el



T

S—
)

—
N

5.,
()
——
vV
s | —

Question Number : 76 Question Id : 4928632476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

If I, = Je"“' cos” x dx. then L2018 _
n Ly016
2
T Lyo15
I.= |e ¢os xdx, ®and, -8 -
T Iro16
2
Optinnzlaz
2018x2019

Cw (2017)% 41

2018%2017
.« (2018)° +1

(2018)(2016)
(2017)7 +1

(2018)(2017)
. (2019)° +1

4.&*

Question Number : 77 Question Id : 4928632477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The area bounded by the curves y =2y, y = Max{x—[x]|.x+|x|} and the lines x = 0.

x = 2 (in square units). 1s

V= 2x% y= ﬂ{ax{x— [x]_x +|.’(‘|} SETe 05w x=0, x=235Fpod 85008285
o8 ITogdn ($86Y LS’

Options :

L @ 2

I'xJ]l—'.

W
4
mlr—-'

W

Question Number : 78 Question Id : 4928632478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

z 5 ; . . e . o 2 . -
The differential equation corresponding to the family of curves givenby y = a + be™ +ce™
1S

| 2: —3x 5 4 ;
y=a+be™ +ce™ T onI@aS SETe Botnoerds $0w05odd ©IEIH SEGDo

Dptiﬂ@:

g 28 +63, =0
e 6y, =0
gu Ji —6y,—y,=0
4 % Y346y, =y =

Question Number : 79 Question Id : 4928632479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

The general solution of the differential equation x”ydx —(x3 +y’° )dy =0 1is

xzj-*dr-(xs+_1'3)(f_1-*=0 O3 IELICH JWEGPO DY), T FES

Options :

Question Number : 80 Question Id : 4928632480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The general solution of the differential equation (l+ y ) dx = (Tan‘l - am 1‘) dy is

(1+ 3% )dx=(Tan ™ y—x)dy o3 ess08 sDotmo B0, FTbn 3¢S

Physics
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Question Number : 81 Question Id : 4928632481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Choose the mcorrect statement from the following

808 DIFpIVOS® 0578
Options :

Strong nuclear force is a short range force

Poe BoI¥E oo ol S5 8 Jrgn o weo
1 ®

> o

Weak nuclear force 1s weakest among gravitational. electromagnetic. weak and strong
nuclear forces

2O So88 200, KKeEEmn, DBgESTI), 08, Beard HBCSN PoeFs oy

were o8 wdgds DOV

Electromagnetic force 1s a long range force

& QBFRAT) 08 w00 BHE .--:‘35335 EOAN 200

-
Gravitational force acts on all objects
RS&c88m o0 o)) SRJow TR
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It V7 1s the volume of a standard unit cell of Germanium crystal containing N atoms, the
expression for the mass ‘m’of a volume ‘V"intermsof V, N M __and N, 1s [Here M _
is the molar mass of Germanium and N, 1s the Avogadro’s constant]

ﬁ'éé&'icﬁoo Q)8 Tl P VO WISV V) ©ond woiHs® N, G850y en
&otrow. V, N, M, 508050 N, do0d", 28505r0sn Vad) @S508 ‘m & 395
DSrdS0 (2 & M, TR0 Irerd |BS55078 00w N, , oFm& Sopg)

Opti{m_s:
V N,
mol v a¥
1 b 4 L"O NG
NaVo M
e N ¥
V N,
Mmal 7 N
3 W o “° 4
' V, N
Mmm' S
- V N,
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A stone 1s dropped from a height of 100 m while another one 1s projected vertically upwards
from the ground with a velocity of 25 nv/s at the same tume. The time 1 seconds after which
they will have the same height is (acceleration due to gravity g = 10 ms—)

2.8 oro 100 m J&y Sood §ods S8, 88 SHooos' ITE To Ford Sod
QLA™ 25 M/s JHos® 28 1H8J0 DK, & Todr &8 I DL L’ HJFTeo WEDLO S
(Kodoge S0 g =10 ms™)

Options :

1.~/4
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A car starts from rest and moves with a constant acceleration of 5 m/s? for 10 seconds
before the driver applies the brake. It then decelerates for 5 seconds before coming to rest.
The average speed of the car over the entire journey of the car is

5% B56 B8 Ic50L S0k JuEE P8 Hob w T8 YBEEmo SM/SE 10 ¥
POSr30008. BYEE SAFHLE S0k S VEDOTFLL 200888 §'dow0d. 578
BNEO (DT oS T ST°RV0 &

Options :

| & 23 m/s

30 m/s
3 % 33 MVS

/
. 25 nvs
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A particle moves n a circle with speed v varying with time as v (1) = 2¢. The total acceleration
of the particle after it completes 2 rounds of cycle 1s

HTEE SrPoS” w8 o V(1) = 21 S&S° (($cirednod. 800 Toko ey 80AS &omd
T I0go 808200

Options :
| u 16T

. v 21+ 647

gcollegeduniaa

el



o W19

4w 14T
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A small object is thrown at an angle 45° to the horizontal with an initial velocity V. The

velocity is averaged for first 4/2 s. and the magnitude of average velocity comes out to be
same as that of initial velocity. i.e. [v,|. The magnitude |v,| will be
(Take g = 10 m/s?)

o DF) 5509 888 45° Fo BuHom F83Ko Ty & IVOTE. S0ES
V2 DESo0s® 3o $0°00 KB, S0 Io S05rnsn &0 ITIE HHrS50008,
oSt [7,|. [7,] s65rm0 (g= 10 m/s2m &8 855%)

Options :

[ w 3m/s

> 3472 nvs

2 % 41VS

il 5m/s
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Consider a wheel rotating around a fixed axis. If the rotation angle ‘6’ varies with time as
0 = ar*, the total acceleration of a point 4 on the rim of the wheel is (v being the tangential
velocity)

:* 8
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A block of mass *4 m’ travelling at a velocity v, in X-direction on a frictionless horizontal
plane makes a head-on collision with another block of mass ‘2 m’ travelling in opposite
direction with a velocity v,. After collision both the blocks travel as a single block along

Vi

X-direction with a final velocity 5 v,. The ratio of velocities e 1S
. 2

X-0¥5" 4 m’ ($S3g0r3 o B0y V, IoS® N8B §8z Jdrodidooy DTS,
5888 BFS* 2 M’ BS508 Koh V, JKos® B BIS* HArBdng) 506 B30y
Sogrindm & §HE. ePIrssn Sugd Todbinw 00 X-8¥S' &b Ko 5,8
Vi

PoSredron. Ime QY -
2

LG9
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A particle of mass “m * moving along the X-axis collides with a stationary particle of mass
m, and deviates by an angle 30° to the X-axis as shown in the figure. If the percentage
change mn kinetic energy of the combined system of these two particles reduces by 50%.

’ s .
the ratio of the masses —= is
ny

SLo&* Wrdd Ao X-B¥ST (@Sraddnd) m; ($33078 Ko 00 Ho F8S D)
M, | B5S55T°3 Ko §e37Q) & 88 X578 30°8208" IFodo Toboh. Dok Serred EOVAND)

5558 o), KB2IES'D Srdy To 50% 8 873 BigTHe ING 2

| m,
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Collision takes place between two solid spheres denoted as 1 and 2. The initial velocities
of the spheres are «, =3 mV/s and u, = 1.5 nv/s and the final velocities are v, = 2.5 mv/s and
v, = 3.5 nv/s. The coefficient of restitution between the materials of the spheres is nearly

5 Feren 1 HocSw 2 o HEg oPIrdo 2808008, T°E SOOI e I83m

u, =3 m/s Sodosn u, = 1.5 m/s Sodaso OBy IS v, =25 m/s Hodasw

1
V,=3.5m/s 3ok Ao doge Wergdad hoso omym

Options :

o 0.67
—C
5 u 0.83
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A 30 kg boy stands at the far edge of a floating plank whose near edge is against the shore of
a river. The plank 1s 10 m long and weighs 10 kg. If the boy walks to the near edge of the
plank. how far from the shore does the plank move

BeudS) 2o ErdY woid 30 kg wrend Joad o, 2o G voib 36 8T8
Sif8e” od. 2o D&Y 10 MBS A rdhn 10 kg, erend we &6 woh S88
SN 20 & 880 od Jod Srdo Boendod

— o

Options :
| ® m

5 x oM
3 ¢ [1-5M

4% 15m
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A uniform cylinder of radius 1 m. mass 1 kg spins about its axis with an angular velocity
20 rad/sec. At certain moment the cylinder 1s placed into a corner as shown 1n the figure.
The coefficient of friction between the horizontal wall and the cylinder 1s 1. where as the
vertical wall 1s frictionless. If the number of rounds made by the cylinder 1s 5 before it
stops. the value of y 1s:

(Acceleration due to gravity g = 10 m/sec?)

I margrgson, 1 kg 8og0°8 §0AS 808 Sgddn 835 oo Job Fedoh Ifsw 20 rad/
S€C & D008, w8 Ew0 Tl JFTrQ) Lo Wrhd JFomr red wodndod.
882 S8 B0k JprS Dody Ho o Joroko U, HAE DIHom Jwd oF doo
D80 drd dwo Hdy o B. QDb st Swod Jrdo 5 (E@derren W,
U De0d (e Scdeo g = 10 m/sec” )
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A spring has a natural length / with one end fixed to the ceiling. The other end 1s fitted with
a smooth ring which can slide on a horizontal rod fixed at distance / below the ceiling.
Initially the spring makes an angle of 60° with the vertical when system is released from
rest. Find the angle of the spring with the vertical when the velocity of the ring reaches half
of the maximum velocity which the ring can attain during the motion

@8 DG PEIYEe plom SAO0ND 6}305 B, e FEY [ o0 DG A5G oS
S0800 SAdow ©d EOY ool | &r80eS* 8§82 SdrodSon SISVISAN éé'j'g_a E0IEN0 T 0.
FOLIST L’cbauﬁc‘fo QUEE 98 Dod SIS Eogoﬁ Qeny Tpd® 60° Fadn WI08.
§o80 0, TR ESOES’ Fod KHOQ IHoS” JHBMTRS)YEo (efi Qoo Bps® Tosw
8’00 ES0A" 060
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From the pole of the earth. a body of mass “m’ 1s imparted a velocity “v_° directed vertically
up. If "M 1s the mass of the earth. ‘R’ its radius and ‘g’ free-fall acceleration on 1ts surface.
the height */° to which the body will ascent 1s

(Neglect air resistance)

drdo Sydoom VB IKod ‘M’ BSgTriie SHH AQI0HT D8 IDT K. Frd
B3gT3 ‘M . >grgdn ‘R’ odcsn Frdeoy "b‘swae‘énsdsaa’na ‘g’ won8 SH W8 DY
Ko 28 I’ (md AT SHBEdotnHn)

Options :

RVE

o

(2gR-V)

1 v

o 28R

B.RR

Rv,
. (2gR+V§)

4.
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Young's modulus experiment is performed on a steel wire of 1 m length and 8 mm diameter.
The mass required to be added m the experiment to produce 5 mm elongation of the wire 1s

(Y, =2 % 10° Nm2, g =10 m/s?)

1 m>dY, 8 mm Fgrgdond) ados afp ool Y8TDE oo PRrHo DT, &
FEH S mm IS ool PRrH0S” 28 oIS (G507

(Y =2 * 10° Nm2, g= 10 m/s?
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What 1s the rate at which a trapped bubble of 2.0 mm diameter rises slightly through a
solution of density 13.6 » 10° kg/m’ and coefficient of viscosity 1.5 centi poise. Assume
the density of air is negligible and g = 10m/s?

2.0 mm FgdSn $OA RBEYFonS wodr, Fos 13.6 x 10° kg/m’ So8osn dyfe
Koeagdn 1.5 o8 ool &d) @Sos® 2.0 mm Frgbo &l wodl 268 Fowod. &
208K @ Tt (BH0S* D8 EBrendod.

(T FoBss &HEodsn 0050 g = 10 m/s?)

Options :
|« 20m/s

, % 20US

; x 0.210s

W 0.02 m/s

Question Number : 97 Question Id : 4928632497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

gcollegeduniaa

el



An electric heater with constant heat supply rate 1s used to convert a certain amount of
liquid ammonia to saturated vapour at high pressure. The heater takes 14 minutes to bring
the liquid at 15 °C to the boiling point of 50 °C and 92 minutes to convert the liquid at the
boiling point wholly to vapour. If the specific heat capacity of iquid ammonia s 4.9 kJ/kg K,
the latent heat of vaporization of ammonia in kJ/kg 1s

Pod HBSradinie 83O EHsnd ©H8 DESS0 & Dody) rdybom YIS
D868 Q) EONoT DS P HOESEH SHBrAcD Sronds. 38 ID BOESS
15 °Co 58%08) 18Ry 50 °C 38 50850 DodrHSS 14 JB0LS0es® EREIFH0
$o00%0 S8R VoY SEHN) |GS0 InaR) Qs SR8 92 ASoodSnen HEn.
SIP YIS (@S0 B0, DIFR FPsin 49kIkg K. o308 arinyFdS forgson
klkg oe*

Options :

L% nin ]

981
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An Aluminium rod of length 1 m and a steel rod of length 2 m both having same cross
sectional area. are soldered together end-to-end. The thermal conductivity of aluminium
rod and steel rod 1s 200 J s~ m~' K~* and 50 J s~ m~! K- respectively. The temperatures of
the free ends are maintained at 300 K and 500 K. What is the temperature of the junction?

2,8 A’)Jdﬁgathd JTogooN), 1m PEH o veorgdodoho éé DB%0 2 m DEYS) &),
o B5E NS0 VLT wod FQs Vobagow. ergdcH §§ Hodasn
&%), $¢o e{TErEegen $H3m 200 T st K1 Sodcse 50T s m KL 909
DS8en 300 K S08030 500 K © 58 8¢ §do 508 38 Ko eXid
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. .

. V

One mole of the ideal gas goes through the process P=F)| -« = | where P and
0

Vare pressure and volume. P,.. ¥, and « are constants. If the maximum attainable temperature

of the gas 1s [i) P‘}}:O . then the value of 15 :

o8 IS sd) Ty, P=FK|l-a|— DECTrI8 STl SIEgH STEonos.

2, & P ook Veo S0 2dSSn Sobokhn Ho850sreren Soddio Py, ¥, ook

0 0 YETHe0. TAWY FosHON KR G (%) H]R%

OB O eI

Options :
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A gas mixture contains », moles of a monoatomic gas and », moles of gas of rigid
diatomic molecules. Each molecule in monoatomic and diatomic gas has 3 and 5 degrees

(e

of freedom respectively. If the adiabatic exponemLC_ J for this gas mixture is 1.5. the
=

o e .
ratio — will be
1,

w8 TPai0 WEFHE0, 1, Jrde I8 HEEre0 THS0Y Hobokn 1, IrSe G)E BEHESTED
VeI fO TABRIYH O EOH tHB. 8 HBBread B08050 BREATE0E TP WeadY e
SE{M 3 Jo8c8n SArgdold HOEen DA GTow. & T050 MF IS Qé‘fggé SorS 080

(&\ B s
LCVJ=1.5 wond, -1 Jng

”2

Options :
L. 1

2 ® 15

4 % 25
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A wire of length 50 cm and weighing 10 gm 1s attached to a spring at one end and to a fixed
wall at the other end. The spring has a spring constant of 50 N/m and is stretched by 1 cm.
If a wave pulse 1s produced on the string near the wall. how much time will it take to reach
the spring

10 gm 25HAOA 50 cm FEHS) 6K w8 DS PYOAIE o0 Todd DIE o8 FEs
R0, Py BwE YA orosdn 50 N/m Sodcn odd 1 cm dbadh. 7d
S5ES0%) 8K DBE w8 Sk $YodSi O ©d RYoA% TEFTVE 08 570 HEEd
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Consider a point object situated at a distance of 30 cm from the centre of sphere of radius
2 cm and refractive index 1.5 as shown in the figure. If the refractive index of the region
surrounding this sphere is 1.4. the position of the image due to refraction by sphere with
respect to the centre is

H06° Brdd Ao el Hok $Ho, 2 CM T ZRREH0H) $o8050 1.5 5EeSDS foea¥SnS)
Rosn o8y Dodod $08 30 cm Brdos® womdh. Aed) 8 &) Bddo SETSS
80 1.4 vond Féod J§Sdo Boddo So IR Doy Bwg), Ké&hHowdw Soo
Sypg 0B ErEhw

H,=14
O
- il -
L 300111 w
Options :
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At what distance from a biconvex lens of the focal length F. must be placed an object for
the distance between the object and 1ts real image to be minimal

DY) NBABW TR e PShowre DYy &rdo F rergoddono Gidvorsd 8so &y
820 wTrwod SIS LIS Jod Erdos’ GoTd

—

L=
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In an experiment, light passing through two slits separated by a distance of 0.3 mm is
projected onto a screen placed at 1 m from the plane of slits. It is observed that the distance
between the central fringe and the adjacent bright fringe 1s 1.9 mm. The wavelength of light
11 N 1S

o8 RArRS0S”, 0.3 mm &80 Sod) ok WOEe HoT 5708 Koiredod WOw s
1 M &ErGoS’HS) B G000 BPH. ©Pd, D&y HGE 0w T J0LI ABYES
Gog@H00d 5708 HP¥o gy Srddw 1.9 mm e HBowrd. 5708 Sdorf Y ghw Jeod

nmees

Options :
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A solid sphere of radius 7, = 1 cm carries charge distributed uniformly over it with density
p, =—3 C/em’. It is surrounded by a concentric spherical shell of radius 7, = 2 cm carrying

uniform charge density p, = % C/em?. If E , denotes the magnitude of the electric field at

distance d from the common centre of the spheres. then

TgrgSn 1, = 1 cm fo HITES0 868 &3¢ &S Hodain p, = -3 Cleny’ FoEs

5ORC0H)8. A 568 So F¥ FoEs p,= — Clem* &od r, =2 cmagdrgSnd) Ko

r | —

Fesn do Bomd) $08 éo Bogos® DeeDoodtn SBIghESstnoms. D&
BoEHn od dErdos” Jdngd ¥ H0Sredn E;vand

Options :
1
E;=——. d<lcm
L% 3¢e,d”
1
E;=—-s>, d=<lcm
Gin €.d
d
E;=—, d<lcm
- 3E,
d
E;=—, d<lcm
€D
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Two 1solated. concentric. conducting spherical shells have radii R and 2 R and uniform
charges g and 2q respectively. If , and 7, are potentials at points located at distances 3 R,

» i
and 5 respectively. from the center of shells. then the ratio (“ﬁ“) will be
1

R 50050 2 Rargargsooen Ko Bod dding, I8 Soldh Fes 8 TrE §6yoren S8
R
D808 g 5000k 2g whTeo O eamon. Sodo Hod 3 RE0boky > Srorees’ PBI0HS

v
Denden SEdm V, 58050 V,e0nd, [—j] D8

n

Options :
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A battery with mternal resistance of 4 €2 1s connected to a circuit consisting three resistances.
R.2 R and 4 R (see following figure). If the power generated in the circuit is highest, then
the magnitude of R must be

R.2R 58050 4R EDS“C:FE.}}FSJ S005708 HL0eS® Lorhd JBomr ody GG 4 Qﬁh\i)_
2.8 3533,55 E:x:é.ral EO>&. S00300e5° 20008 3&355 'Z'Fa‘isésa’ix} ﬁ@%}&mé‘ Ro‘:ﬁmé&

poTo P oLl PN e

gy 108

4 u 14 €
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If the resistance of each edge of a cube shaped wire frame shown 1n figure below 1s R. the
resistance between points 1 and 7 1s

DL0S* TrDd o DI eFEI0S® DHLES &1 PeHuo ATEIN Jend R wows,

1 0850 7 FITO 088 DEEB[D Jend

|
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A steady current 7 flows through a wire with one end at O and the other end extending

upto infinity as shown i the figure. The magnetic field at a point P. located at a distance
‘d’ from O1s

HL0S® SrOS Ao wE DG 0 5F 06 VI8 ©S50a°A8 PER0d0ES SisS” 28 DBogd
I H8008. ‘d’ &rdos® H8ofwdsd wf Dot P S5¢ o) of FBo Jend

P
d>.
0~ Ja =
Optinqs:
I .
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1 :
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I
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i drdsm o
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The magnetic induction at pomnt ‘O’ of the given infinitely long current carrying wire shown
in the figure below 1s

50060 ErDS o s PEYod IS BTTHND K Gob. ‘O’ DodP 5¢
@008 (w8 Jend

3
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At a location, the horizontal component of the Earth’s magnetic field is 0.3 G i the magnetic
meridian and the dip angle is 60°. The earth’s magnetic field at this location in G 1s

o8 PI0S° g vchr)od FGo BwE), §8x JdSrodd vwoFo dend 0.3 G, e3Frss 0o
60°. & o 3§ e BowE), v s s¥o G od’
Options :
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Question Number : 112 Question Id : 4928632512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

A rectangular loop of wire 1s placed in the XY plane with its side of length 3 cm parallel to
the X-axis and the side of length 4 cm parallel to the Y - axis. It 1s moving in the positive
X direction with the speed 10 ci/sec. A magnetic field exists in the space with its direction
parallel to the Z - axis. The field decreases by 2 » 10~ T/cm along the positive X - axis and
increases in time by 2 x 10~2 T/sec. The induced emf in the wire is

BESS0rs s o orddo XY dood’, 3 cm FEIS) o8 @8, X-wgds Sdroddom
308050 4 cm FEYS) & B8 Y-o05dd Sdroddor Gomrd. b F5 X HIS
10 c;m/sec 308" Edoendiod. S0000 @8 S0oSt Z - B eohdm,os FE50HB. &
X - 83s* §go 2 x 107 T/em TH98 Shder Sodcsn soos® 2 x 107 T/sec THpS
DEHHS0B. (208 IgIos weo Jend

Options :
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Question Number : 113 Question Id : 4928632513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A coil has inductance of 0.4 H and resistance of 8 €. It 1s connected to an AC source with

_— 30 T
peak emf 4 V and frequency ~ Hz  The average power dissipated in the circuit is:

o8 BHen g, HEEsw 0.4 H 500050 o 36650 8 Q.5 398 d.ovw. 4V
30 ,
S00050 Z:Ygo —HZ &) IT088 g8 2308 EOFK. $005008* HTH0 DABIGH
. _

@fpggm DD

Options :

1 b 4 ].WT
% 0.5W
. % 03W

L 01 W

Question Number : 114 Question Id : 4928632514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A laser beam 1s operating at 100 mW. The amount of energy stored by 90 cm length of this
laser beam will be

28 B0 5708 Hoxdn 100 MW 58§ H9V808. 90 cm &Y o Houdns® Jend &)
8 DD

Options :

L% 2%x107107
s 3% 1010]
sy Box 1078

gou 63 1]

Question Number : 115 Question Id : 4928632515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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A photon of energy 4 eV imparts all its energy to an electron that leaves a metal surface
with 1.1 eV of kinetic energy. The work function of the metal 1s

S doo $08 1.1 eV K8¥88° Je0sg JogSh 4 eV BAONS FirsS &5 o #89
25008, S H HH00HB0 Jos?

Options :
1 29eV

. % 5.1eV

3 & 364 E\f?

L% 44eV

Question Number : 116 Question Id : 4928632516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Consider an electron revolving in a circular orbit of hydrogen atom whose quantum number
n = 2. The velocity of the electron in that orbit 1s

28 JOES TERY HOXr0YST solo Jopg 1= 2 Mo HIISE EES”T SShEob.
558" 8D JoEs o oo

Options :

|« 1.1 x10°m/s

> u 2.2 % 107 m/s

s » 44x10°m/s

4 % 2.2 x10° Vs

Question Number : 117 Question Id : 4928632517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The half-life of ;292, 1s 103 vears. The time 1t takes for 100 g sample of inga to decay to

3.125 g 18

1209 209 " 4
g o OO0, ©fLldsT oo 103 Jodgoren. 100g © 5 S0 3.125g eorr §50thdose
é&g?@:ﬁw
Options :
3296 years

i 3296 Sod&yoren

1032 vears

(¥ w J\
_— 10342 dodsoren

1648 years
) 1648 Sodsyoren
515 years
515 Sod&oren
4. ¢ =

Question Number : 118 Question Id : 4928632518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
The logic operation performed by the following circuit 1s

808 Sooho 2P &Y, HTOSD0

AC
B O

Options :

. % NOR

> ¢ AND
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3 x NAND

4 ® OR

Question Number : 119 Question Id : 4928632519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following statements 1s true?

Sod ASBpdveE A0 J:B00?

Options :
1 ®

A solid 1s an msulator or semiconductor 1f its conduction band 1s partially filled

oo é@ TESOM™ Vod &) WX TP VY TTEIW S OGN0

A solid 1s necessarily an msulator 1f its conduction band is empty

o T8 S8 O &), oS Iorgdn S5 EvoE v THTES RS
> e e :

A solid 1s necessarily a semiconductor if 1ts conduction band 1s empty
. TTE 8 PoT &), 8 DS Sogsw SHNV0M e TEiord
5 _ , ,

A solid 1s a conductor if 1ts conduction band 1s partially filled

TS mé FEEom Jodnd GoB & awgm w8 GEN TTESRID

4

Question Number : 120 Question Id : 4928632520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong :

A transmitting and receiving antenna have height of ‘d” meters each. The maximum distance
between them for satisfactory communication in Line-of-Sight mode (LOS) 1s 2 d
kilometers. If the radius of earth is 6400 km. then the value of d 1s

RIS S0k T soBTre I B S ‘d LK. ERdy IrES' SoBEs
PPV T8 &y woBd HOQ &rddn 2d 8S° L. drd grgson 6400 kmeond

d e
gcollegeduniaa
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Question Number : 121 Question Id : 4928632521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a photoelectric effect experiment. the kinetic energy of an emitted electron i1s

1.986 = 107" J. when a radiation of frequency 1.0 = 10%° s~ hits the metal. What is the
threshold frequency of the metal (in s71)?

(Planck’s constant = 6.62 x 10734 J s)

28 5708 QS HO8 PAFKoes®, 1.0 x 100 571 2EeHdgo Ko D8Gadn &) e85 %
GOS0 DodS JoFe He=2¥8 1.986 * 1077 J. &°50 Bk, EIR FI:Ydg0 slees*
0 &?

(0§ Dorosdw = 6.62 * 1074 T )

Options :

1. ¢ 7.0 x 1014

[ ]
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, « 5.8886 x 101

3 # 7.0 x 10715

4 R 7.0 X 1015

Question Number : 122 Question Id : 4928632522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The following plot represents the deBroglie wavelength as a function of the kinetic energy
(k.e.) of two particles A and B. Identify the correct relation

A 500050 B Ssme &(5°O 880r34 gio o Ké=ds (ke.) Ddomr §od (RS drdadod.
ROGHN JowoF) HBoWod

B
A

> =

Options :

|y My =g

<
nl, = Ilg

5 o MW, =y

m, =m,= 0

Question Number : 123 Question Id : 4928632523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The correct option for the first ionization enthalpy (in kJ mol™) of Li. Na. K and Cs
respectively 1s

Li. Na, K. Cs © 3088 odhaddn Jogdy (kI mol! o&f) $6dm drdod 88308

m:ﬁ&ééﬁ:}a
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| = 496, 520, 419.
. % 374. 419, 496.
. » 520. 496, 419,

374, 419. 520.

374

520

374

496

Question Number : 124 Question Id : 4928632524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which of the following statements about BE, and AIF,™ are correct?

a) B and Al differ in their oxidation states.
b) B and Al differ in their covalency.

c) B obeys the octet rule

d) BandAlare in diagonal relationship.

BE, $o8cin Al o $020600 §08 J580ee” I $05080?

a) BSodcin Alen 8 ©§)880 Joddomr IBEIow
b) BHodosw Alenw o8 Fard) H8omr ABBI00

) B ol8 dohidr) 8308

d) Blodcin Alew 8¢ Sowoard) 804 eramow

Options :

a.b

1 #®
> » b.cd
- % a,b.C

4 b.c

Question Number : 125 Question Id : 4928632525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Statement (a) :  CO, has no dipole moment. whereas SO, and H,O have dipole moment.
Statement (b) :  SnCl, is ionic. whereas SnCl, is covalent.

58 (a): €O, & Boghsgrsossin 88 s SO, Hoaie H,0 o
A (SUISTEARRCESRICTAR ST A
D5e (b): SnCl, o8 Sorgdn 570 SnCl, Fa8od Sargsdw

Which of the following is correct?
808 TES* A8 JODIB?

Options :
Both (a) and (b) are not correct

- (@), (b) oo J6GED 57%0

(a) 1s correct but (b) 1s not correct
P (a) 65058 52 (b) J0HE &0
2.

Both (a) and (b) are correct

|, (@) 30080 (b) o $0&83

(a) 1s not correct but (b) 1s correct

- (a) SBSI8 5750 577 (b) DO
4

Question Number : 126 Question Id : 4928632526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Assertion (A) : Xe atoms in XeF, are d’sp hybridised.
Reason (R):  XeF, molecule does not follow octet rule.

PS50 (A): XeF, & Xe $85rmmoPen dsp? 508688050 Bomran
w0 (R):  XeF, wend) of8 dohird) FBose:

Which of the following is true?
& (808 TAS* DB HEgHN?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
% (A)So8ain (R)Bodor d8gsn S08a5n (A) & (R) 505308 Jh58e

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
il (A) 308050 (R)Bodr 8585w, 570 (A) 8§ (R) 985308 Jhdes 5780

(A) 1s true. but (R) 1s false
- (A) 3¢50, 570 (R) e9dggdow

(A) 1s false. but (R) 1s true

., W essgsn, w2 (R) s855

Question Number : 127 Question Id : 4928632527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

12 cm? of SO, (g diffused through a porous membrane in 1 nunute. Under smular conditions
120 cm® of another gas diffused in 5 minutes. The molar mass of the gas in g mol™ is

12 cm?® SO, (5) 1 ADRI0S® 28 IYPBFB00d Togddo Bodod. & LIRSy
120 e’ 2.8 P00 5 DTS Trghdo BobdLowd & TNy Irerd (G5500R
g mol™ o&*

Options :

.o 32
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2&18
3_ﬁ44

4 16

Question Number : 128 Question Id : 4928632528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

1 mole of gas A and 1 mole of gas B at 27°C were pumped into a 24.6 L volume
pre-evacuated 1solated flask. The catalyst coated inside the flask catalyzes the following
reaction

A(g) By —2D(,) The kinetic energy of D is 98.03 L atm.

Calculate the pressure realized at the end of the reaction.

So00&om Erdgo BS 24.6 L 530500 Ko 25 g 27°C 58 1376 A 558050
1 306 Bod® dodrd. FSSHO FEs Fos Fd §od 3655 s@ydmo S20d

—

WEGIE o SHTE 2880 dog?
Options :

, » l.66atm
5  2.66 atm

4.33 atm
4 R

Question Number : 129 Question Id : 4928632529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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28 g KOH is required to completely neutralise CO, produced on heating 60 g of impure
CaCO,. The percentage purity of CaCO, is approximately
(molar masses of KOH and CaCO, are 56 and 100 g mol™'. respectively)

20Hgor B 60 g CaCO,; & I&BoDA dddSwons CO, & Fom SLsdotiosh
28 g © KOH 95383086, CaCO, Bwg), H00H88 (purity) 850 Sodrdon
(KOH. CaCO,;3rerS (@dgoeden Sdm 56, 100 g mol)

Options :

o 416
s 40
5 208

L@ 82

Question Number : 130 Question Id : 4928632530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which one of following is a disproportionation reaction?

8od TES* b LIPS SLy?

S=M . g=J° ==

[

Options :

2AgNO,, . +Cu() — Cu(NO;) ) +2Ag,,

1 =

3AgNOy,. ) +K3PO, o) — AgsPO 4, +3KNOy )

3(aq

' A
5 e 4KC103(S)———'}KCI(S)+3KC104(S)

4Fe,+30,, — 2Fe,0,

4 #®
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Question Number : 131 Question Id : 4928632531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The standard enthalpy of formation of COg). CO,(g). N,O(y). and N, O, are respectively
—10,-393. 81. and —10 kJ mol~'. Enthalpy change (in kJ) of the following reaction is

N,0,+3CO( — N,0(»+3C0,

CO(‘T)‘ COZ(J.'F’)* NZO(:F) STelovbh N204 (;-_;..)E‘.) éo'ﬁéé @:Dég QDGT’@‘D S&Hme —10.-393. 81

56050 —10 kT mol. o8 $65% JoTdS* Srd (KT o)
N,04) +3C0@) = NyO(m) + 3CO () 1

Options :

| —1058

.« +1058

sy D5

4 ® +957

Question Number : 132 Question Id : 4928632532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Consider the following reaction in a 1 L closed vessel.

N,+3H, —— 2NH,

If all the species: N,. H, and NH, are in 1 mole in the beginning of the reaction and
equilibrium 1s attained after unreacted N, 1s 0.7 moles. What is the value of equilibrium

constant.

28 1 L3ordd Fgs® $ob S8 H03000b

N,+3H, — 2NH,

SEgrSoerad S, N, H, So8cdw NH; eo 3886 1 3rd damon. S63T708
N, 3rden 0.7 wandyd SHeyps A5YE0S. SRS YUroEY Jend Jog?

gcollegeduniaa
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w

&

3600.00

)
@)
N
o~
[a—
N

1828.57

Question Number : 133 Question Id : 4928632533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the solubility product of Ni(OH), is 4.0 > 10~*>, the solubility (in mol L) is

Ni(OH), Goo%), (@5edass

Options :

s A0 % 10

.

. 10x% 107

« 2.0 x 105

& o0 4.0 >

<107 2008 o TS3a%¢ (mol

L1 oe*)

Question Number : 134 Question Id : 4928632534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Identify the reactions in which H, is liberated

H, % 2dse Soio S6ges #8050

1Q
I
e

.aq=2© ; ConcC. =mé

a) Zn+NaOHgq —
b) HCOOH Lt SN

conc.H,SO,
' 1270 |
& CH-"(g) +H30(g) Ni

d Zn+H  ,—

e) C(5)+H30(g) 1270K

Options :
g e A

> % a,b,c.d

.« b.c.de

4 x abce

Question Number : 135 Question Id : 4928632535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BeH, can be prepared by the reaction of

o) $8g ogo” BeH, o Sairdh Sashusy?

Options :

BeCl2 with LiAJH4
. LiAIH, & BeCl, 563
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Be with H,
H, & Be <43

> R

Be with water
288* Be 38 g

*

w

Be with liquid ammonia

; B @3 Qosrs” Be S

Question Number : 136 Question Id : 4928632536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

AICI, in water at pH < 7 forms

PH <7 3¢ d8e* AICL D8y558

Options :

tetrahedral Al(OH), ions

Berom@S Al(OH), edcirSen
1. %

Octahedral Al(OH)z_ 10ns

s5rES Al(OH), ecirSen

Square planar Al(OH); ions

SHode GHEE Al(OH), wdrdes
Octahedral Al(OH, )if 101S

_y 3+ -
3 eSS AI(OHA_,)6 Zleve SISV
4 " .

Question Number : 137 Question Id : 4928632537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: (0

Which of the following 1s known as silicone?

808 TES® TI VOSSN @ woirdd?

Options :
'
Polymer of —é ?i—Cl)
R
|
4( S'}i—Cl) S, 55
1. % R
i
Polymer of ‘6 Slli—-O )’
R
IF
—6 S1—-0 ) Bwg) FOI0
|
> ¢ R

Polymer of Si0,

Si0, @&, FOS6
3 % i

Polymer of [SiO,]*

[SI0, 1+ GBoogy, 0506
4

Question Number : 138 Question Id : 4928632538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Identify the reactions that occur in photochemical smog

5708 S0 FYPNS” 2 Wgod H8owHEw

Q
|
-

a) CH,=0+H, — CH,0H

hv _
b) NO —)NO(g)-i-O(g). O(g)+0 )

2(g) 2Ag) 3e)

¢) 3CH,+20,—3CH,=0+3H,0

d)  NO)FOy) ——NO, ) +0y,,

Options :

H,,,b.f:.d

> % ab.c

Question Number : 139 Question Id : 4928632539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

[UPAC name of 1soprene 1s

265 TUPAC 550
Options :

1. 3-butadiene

| w L 3enghdonrs
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2. 3-dimethylbutadiene
2. 3'@&3@ 62&366-3 & QJJ“’S

2-methyl —1. 3-butadiene

2-086-1. 3-&335&503:"5
3 o

1. 3-dimethylbutadiene
1.3-80F Sangodioore

Question Number : 140 Question Id : 4928632540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct catalyst and reaction conditions for the controlled oxidation of methane
to (1) methanol (X). (11) methanal (Y) and ethane to (111) ethanoic acid (Z)

WP 008 Joho@8 s ESwo 8 (1) NESS (X). (1) DG5S (Y) odosw &FS
ok (1) SFTons sdo (Z) Ddgcéoiaéo Thons S0G8 G@)o Sddkn Hog
QoRBod HoTod.

ool
(X) (Y) (Z2)

| ® ‘Mozos/ﬁ .(CH3C‘OO)2 Mw/A Cw/523K/100atm
> o

(X) (Y) (Z)
Cu/523K/100atm Mo,0,/A (CH,CO0), Mn/A
3 %

(X) (Y) (Z)
(CH,C00), Mw/A Cu/523K/100atm Mo,0,/A
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(X) (Y)
Mo,0,/A Cu/523K/100 atm

(Z2)

(CH;C00), Mn/A

Question Number : 141 Question Id : 4928632541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The major product (P) formed in the below reaction 1s

Bry(1mole)

' £ (1308) |
H-C=C-CH,-CH=CH, — =P

Bod HEg8° AR DTS edy$Sn (P)

Options :

, H-C'= C—CH,-CH(Br) - CH, (Br)
. CH(BI),~C(Br),~CH,~CH=CH,

_ CH,(Br)— CH(Br) - CH, - CH=CH,
3 = - 2

CH, = CH(Br)— CH(Br) - CH=CH,

Question Number : 142 Question Id : 4928632542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0
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Match the following
List-1 List-1I

(a) @ @@@@ @ (1) Ferromagnetism
(b) @ @@@@ @ (11) Antiferromagnetism
(¢) @ @ @ @@ @ (111) Ferrimagnetism

Bod T8 2EHEBok

e -1 o - 11

ON0/00[00]0 () DEesI08850
®» Q00000 (i) SroSE sabnosse
© 000000 (iii) 6 wasdyossgo

The correct answer 1s

0d Yo 1IN

Options :

(@ (b)) (o)
px (@) (@) (@)

@ @ (o)
L ) @ ()
@ @® (o)
s (1) (1) (i)
@ @® (o)
sx @) () (i)

Question Number : 143 Question Id : 4928632543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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How many grams of glucose must be added to 0.5 liter of a solution so that its osmatic
pressure 1s same as that of a solution of 9.2 g of glucose dissolved in a liter?

8 L&* 92 go 4388 &) (e BTPd8n 2858 S8Rl (ETPInsssn
SENLE 0.5 L mrdeos” genddonsd Krs's (g od’)

Options :

s 932

2.31

3&

. v 4.60

Question Number : 144 Question Id : 4928632544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Molarity of a 50 mL H,SO, solution is 10.0 M. If the density of the solution is 1.4 gm/cc.
calculate 1ts molality

S0mL H,SO, 5750 3rer8& 10.0 M. IHe0) Fro@é 1.4 gni/cc wond & Irerd B

Question Number : 145 Question Id : 4928632545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Limiting molar conductivity of Mg>" and CI~ ions in water is 106.0 and 76.3 S cm? mol™. The
limiting molar conductivity of magnesium chloride (in S cm” mol™) in water is

NE3e® Mg? S0008n Cl wosrsSe 9588 Irerd TirEd; Jdevden 106.0 Sodosw
76.3 S e’ mol™. JES* JoAyacio §BE w568 Irerd TirEd (S cm” mol-'es®)

Options :
o 1823

. ¢ 258.6

3 R 2883

L % 364.6

Question Number : 146 Question Id : 4928632546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

A particular reaction has a rate constant 1.15 x 10~ s71. How long does it take for 6 g of the
reactant to reduce to 3 g? (log 2=10.301)

o8 HBgE $6g Bt Horokdn 1.15 x 1073 571 6 g o Eosrasssn 3 gm SrdHosd
tpsrosw J08? (log 2=0.301)

Options :
o 3015
, o 6035

.« 840s

% 138

Question Number : 147 Question Id : 4928632547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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3 ; . . s -
If the value of — 1s equal to 1 m Freundlich adsorption 1sotherm. then i
1n

(x = mass of adsorbate. m = mass of the absorbent. P = pressure of the gas)

1 X
FPon o0& O hT A éﬁr%ﬁm@‘“ — dend 18 JddrSRs, E:
n

(x =05 ado |B550°3. m = ©F*Aso (K¥S550°3. P = Frafnndso)
Options :
k
1 % P
3 ® k

s % 0

Question Number : 148 Question Id : 4928632548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 1s the slag formed during the extraction of iron?

e dodreadn DAY W ST 82
Options :

MgO

1. %

FeSiO,

25%

_ ., CaSio,

, « M5O,

Question Number : 149 Question Id : 4928632549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0



What 1s the chemical formula of hypophosphorous acid?

TIPHED wdo @nE), SFcHE ey I8

Options :

Question Number : 150 Question Id : 4928632550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (

Which of the following 10ns possesses S-O-S bond?

S-0-S 208508) vdirs 28?

Options :

9
1 ® 8203

J

Question Number : 151 Question Id : 4928632551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the elements possess only one electron i 5d orbital?

5d serdes® o3 wf JoFs &8 Sroven D?

Options :

-

el
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OTm. 1Pm

2
HS

” % 591:)1.‘ ?lLu
>'T.a.%1Pm

S?L 71
2.7 In
4

Question Number : 152 Question Id : 4928632552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The electronic configuration of Cr in Cr(CO), as calculated using Crystal Field Theory is

B8 B8 dmoddn Wsrdhsn Cr(CO)  s* Cr BwE), JoEs dmgddw

Options :

t,.4€
2¢* ©g0

Question Number : 153 Question Id : 4928632553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

[ ]
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Match the following

List-1 List-1I
(a) Natural rubber (1) PB-Glucose
(b) Cellulose (11) Isoprene
(¢) Nylon-6 (111) Tetrafluoroethylene
(d) Teflon (1v) Caprolactam

(v) Hexamethylenediamine, adipic acid

808 T8I RSVTWob

e -1 e -1
(@) Jre ged (1) P-Ars’S
(b)) Deogs™d (i) 2d@®>S
(€) Jeora-6 (1) BErPFS'Rdos
d 8>S (Iv) s | Fergan

(V) TE0ROIBADS, 28D a0

The correct answer 1s
00 2oV BT

Options :

@ ® © @
L) O v G

(@ @) () (@
> % () @) (@) (@)
@ @ (© (@
3 % (Iv) (1) (1) ()
(@ (b (© (@
4, x (1) (1) @v) (V)

Question Number : 154 Question Id : 4928632554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0



Identify the non-reducing sugar from the following

§ob T8&S® EohElen Gomend WD Kgowos

Options :

Maltose
SeeStS
1 ® =
Sucrose
ool OIE°S
Lactose

eSS
3 % ®

Glucose

Kr8'E
4 % ©

Question Number : 155 Question Id : 4928632555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Identify the correct set of functional groups present in Aspartame. an artificial sweetener

585 8D 57880 @ondindod eRFINS' o EIoh JhrFFod ook

Options :
. . 'ﬂ =
> —-COOCH;. —NH,. S o 38 OC,H;
. . 9 [o
~COOH. —NH,. N _& _ocH
2. ¢ 3
» » —CONH,, —NH-. —CO-. —COOH
- —CHO. —CN. —OH. -COOCH,
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Question Number : 156 Question Id : 4928632556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following molecules 1s not chiral?

Sod LIS’ S A8 8?

Options :
CH,
H i C"‘HS
HO
3"
CH,
HO},? L
/}—— C H,
_H.C-CH,
2 :

3 8B CHB
CH,
HOX&* C1H5
4 % H

Question Number : 157 Question Id : 4928632557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

-
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The major product obtained in the reaction of bromobenzene with Mg in dry ether followed
by the reaction with benzonitrile and hydrolysis 1s

' 3rToLID F& HPHES’ IEGTIoNVS SoI8 VoL JBJES® g 220D 2oIZhe B
QEVE RS e EyS)d0
Options :
Acetophenone
il REST AR TS

Benzophenone

- BoSod R

Phenyl benzoate

| o RS Bos'ahis

Benzoic acid

4% FoEowns sdo

Question Number : 158 Question Id : 4928632558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The major product (Z) of the following chemical reaction is

BoB SoNS $EGS* 6E BTE wdHS0 (2)

0
: I
CH, -C—-CH, -CH, —CH, (Br) é‘j;‘ff; >[P]—2 5 7
Options :
(l)H
CH, - ¢ —CH, ~ CH, - CH,
L% Ph

gcollegeduniaa

—



OH

|
CH, - C—CH,~CH, ~CH,Br
Ph

=Q

CH,-C—CH,-CH,-CH,—Ph

4 %

Question Number : 159 Question Id : 4928632559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In the below given synthetic sequence. the product “C™ 1s

808 RJc2ES D0Fde wHESB0S®, wEHB0 “C”

Mg(Cl
‘ 1) CO, NH; .
i) H® >A A B NaOH > C
Options :
NH2

-
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CONHBr

e

Question Number : 160 Question Id : 4928632560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

NH,
' =]
(CH;C0),0 S X By . y_OH
Pyndine CH;CO,H v
5083 i

What are structures of X. Y and Z in the above given reaction sequence?

Options
X X Zz
I'\'iI-IC"C)CH3 NHCOCI—I3 NI-L2
1 & Br Br
X b Z
’.\"H(_"O(_"I-I3 I\IH‘C(_)(_“H3 NI—I2
Br @Br
> % Br Br
n X Z.
NHCOEH NHCOEH NH,_,
3 % Br Br
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X % Z
NH-COO-COCH NH ﬂoﬁ\ NH,

f 3 CH 2

Br Br
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